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1. For a subspace W of a finite dimensional vector space V (F), Dim (—") is|

w
equal to
\ | ® DmV-Dimw (2 .DimV
8 & ALY D08 DY
'}(3) Dim W : (4) Dim W

[

2 The set of ordered triplets (a,, 4,, 0) of R? has dimension .

@il e
@) 8 @ 4
‘3. A set of vectors containing the null vector is

(1) LinearlyIndependent  (2) Linearly Dependent

(3) Both (1) and (2) 4 ‘(4) None of these
-4, . A bijective linear transformation is called
(1) Homomorphism L (2). Monomorphism

(3). Epimorphism = » (4) Isomorphism
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(‘¥ i cos o sin o .
% By | The matrix| oo o7 oo 18
(1) Unitary (@ Skew-symmetric
(3) Orthogonal ‘. (9 Hermitian

A The characteristic roots of'the' matrix [ 2 1 ] are

}.L

i SRR B0
) 1,'«/5._ b e
=2 The set of vectors X, = e TDX =-(_; 5% — D=8 D)
is v : :
(1) Liheaﬂy aepender;t‘ (2_). Line.a’arl>y I.ndependent
}.(3) Both (1) and (2) | o ‘(4). None of thés;

B The p‘r’oducf of the eigenvalues of the matrix A is equal to
Eome Tira B (2) Traceof A

© 1 = W
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T lIf A is a square matrix, then A ¥ A, AA  and A'’A are _
(1) Symmetric - o & (2)' Skew symmetric

3) Hermitian . e A Skew Hermitian

10. If A is an orthogonal matrix, then

MeMieg S @ it
@ lAl=1 5 @0t W]
11. | The mathematical expression for contiﬁuity of a function is

@ Gmf@-f@Yeeltl () AMfE=fEOVee@h

@®) _f'i_r’l:f(x)=f(c),‘v’_ce[a,b) ' (4). fi_r’tzf(x)=f(c),"v’ce(é,b] : ‘. :

, T8 Ter dv
12, For 2x + 3y = sin X, then value of &2 is

dx
35 cosx—2 e e
e | %
tan x — 3 T sinx —2
(3) S i 4) |

PG-EE-2022 (Statistics) Code-A
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- 18. Ifx=6sin"'2t andy=——-—1—— -t‘hen}'gy- is
% ‘ e - e
(1) ) ———L
1< &th 14t
i ‘o gintace lans
© Time ' @ 30-4)
: ' : S
1118k - Zim(a oo T‘ is equals to
_ ‘x->0 2
1) a+b e Ay,
@ Jab e @ 5
, 15. If‘f’ be a continuous and differentiable function on (a, b), then the condition
| for'the function ‘f’ to be increasing is . |
@ £ <0 vx.%¢€@b)
@ f'®>0 vx,%ec@hb)
@ £'®=0 vx,%ec@b
@) f'®=20 v x,%,€(@b)

PG-EE-2022 (Statistics) Code-A
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| 16. | The integral Isin" x cos” xdx  is
. : -.
,(1) 2 o -
£ i
® 16 . = (4) %)

3 - S : b i a ,v . i
17. ' | The name of the property I f(x)dx= I f(x)dx is
a5 =i i : a Beiaaony ¢

(1) ‘Reverse integral property (2) Adding intervals property

(3) Zero interval property (4) Adding integrand property

18. .At'tllle‘po.i.rit x=0, thé function f (x) = |x|, — 1<x<1 ié
1) Cbntiﬁuous and diﬁ'éréntiable | | |

:(2) Non-c@ntinuous and .differen'tiabie

(3) | Continuous and pon-diﬁ'exénﬁable

(4) Neither continuous nor differentiable

PG-EE-2022 (Statistics) Code-A :
| (5)
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' s 4-x*: ;
19. The function f (x) = 5 is
o5 : : 4x -x

(1) Discontinuous at one point
(2) - Discontinuous at exactly two points _
(3) Discontinuous at exactly three points

4 C_ontin'ubus at all points

: 1
' 20. | The integral dx convergesto .
e
@6 e S

21 | The ordér and degree of the "differ'ential. équation : %}+ l+(%)3 =0
‘ are

 (1)' Firs_t order, second degréé :

(2) First Qrder, first d;greé

(8) Second degree,'se_c':ond ordes

(4) Second order, first degree

= PG;EE;2022 (»St,atist'ics) Code—_A : |
' ' : T ek
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“22.

The n* order ordinary linear homogeneous differential equation
S MR _

(1) n-singular solutions : (2) no singular .solu_tion

(3) one singular solution (4) (n-1)singular solution

23.

i e R s R -
The differenhal equation Sy Exx —2y =0 has the solution

dX2
@ -Y.=_cl-e-_2*+c2ex | 7.(2)‘ y=cen
(6)) Y.':'cl‘e'z"+c2£.a."‘+c3 : }(4)".y‘=.¢le."2x+c2eu
- 24.

d b L X2 '
The equation Td);, + Py = Q is linear differential equation of first order |
o

(1) P,Qare functions of x only

2 P,Q are the functions of y only

| @ P, Qare the functions of xand y

@ P,Q é.re the functions of none of x andy

PG-EE-2022 (Statistics) Code-A
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" No. -
. ' 25. The integrating factor for the differential equation

| 4 & : ot
+ —_— v =k +-1)2
(x_ 1)dx y=e*(x v1) is

k.

2%

(6)) et @ x+1
- @ x-
~ 26. The necessary cond1t10n for the equatlon M (x, y) dx +N (x y) dy 0 tobe
exact is - '
Y L BN N
Gl il aa
. M _oN oM _ oN
® B a 5w
The differential equatlon denved from y= A e*+Be *; A and B are

1 ‘3'

|® 2

constants has the order
@ 1

4 .4

PG-EE-2022 (Statistics) Code-A
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28.

e :
The ordinary differential equation x -&i—, —y =2x? with initial condition

y (O) =0 has

: (l)l No solution : (2) A unique solution

| @ Two distinct solutions (4) An infinite number of solutions

29,

Which of the following statement is true ?

(1) The set Q of -rationél numbers is ’n'eighbour_hoc_)d of each of its

points-'
(2) The set R of real numbers is neighboﬁrhood of each of its points

(3). The set N of natural-numbers. is neighbourhood of each of its

points

(4) All the above statements are true

30.

If ¢ima, ® = fim e rovided that the limit on RHS exists. This result

n—® n—w aﬂ

is known as
(1) Heine-Borel theorem (2). Cauchy 2™ theorém on limits

(3) Squeeze principle | 4) . Leibnitz's rule

PG-EE-2022 (Statistics) Code-A
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No Questions '
: 1
31. fgg n" isequal to -
LD T 5 % @ 0
(3)‘ e | | j 4) Log2
32.. .'I.‘he set {(,—'1)n n} is
(1) Bounded below but not above
(2)- ; Boundéd above bﬁt not belbw‘
(3.).- Bbundgd
(4). _Neif,her bounded below nor boﬁnde_d above
. .33.- I 1(%).= -17 on [1, 4] then the values of L [f, P] and U [f P] for the

partltlon P i1, 2.3, 4} of [1, 4] are

2 b2 : 61 49

anik ol 0y oA
D 144’ 36 e @ 144’ 36
19 i
3) m,gg : (4) None of thesg

PG-EE-2022 (Statistics) Code-A
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Questions

34.

@) LEP)<L(EP) (49) Both (1) and (2) are true

Iff:[a,b] > Risa bounded functlon and P, P’ € P [a, b] suchthat Pc P,
then Wh1ch of the followmg is true ? ?

1 L P')_zL(f,‘P) . or ) UEPYSUGE D

- 35.

Every infinite bounded set of real numbers has a limit point. This result

is known as
) Heine-Borel Theorem - (2) Cauchy I** theorem on limits

49 - Cauchy 2nd theorem on limits ~ (4) Bolzano-Weierstrass theorem

36,

The series 2, cos (H) is
n=1
(1) Convergent e () DiVergent

(3) Oscillating finitely (4) Oscillating infinitely

31,

A set of values of decision variables which satisfies the 1inear constraints

and non-negativity conditions of a LPP is called its
(1) Unbounded solution | (2) Optimum solution

3) Feasible solution @) None of these

PG-EE-2022 (Statistics) Code-A
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38,

The feasible region for a LPP is shown shaded in the figure given below. _If

Z = 3x — 4y be the objective function, then minimum of Z occurs at 5

13U (@10)

0, 8)

(6, 8)

‘Feasible
Regionv 6,35 -
@9
@ ©,0 o @ ©8

39.

A. basic solution is called nOn—degenérate if -
(1) All the basic variables are zero

(2) None of the basic variable is zero

(3). At least one of the basic variable is zero

(4) Atmost one of the basic vafiablé is zero -

- 40.

| Linear Programming Problem (LPP) involving more than two variables

can be solved by
(1) Graphical method (2) Matrix minima method

(3) Hungarian method ' (4) Simplex method -

PG-EE-2022 (Statistics) Code-A
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Questions

41.

The coefficient of slack variable in the objective function is
(1 -M 2 M

(-0 b v avoglh

42.

For maximization LPP, the Simplex method is terminated when all

values

1) C-%=20 @ C,+Z20

@ t-Z<ps 2 (4) 'C+Z,<0

- 43.

The assignment proble'm is

.(1) Non-linear programming problem
(2) Dynamic progr.amming' pfoblem

(3) Integer linear proéramming problem

(4)‘ Integer non-linear programming problem

T 4d.

The solution to a Transportation Problem (TP) with ‘m’ rows and ‘n’ columns

is basic feasible if number of positive allocations are
(1) m+n: T EiE m-n

(3).m+n—;1 | 49 m+n+l

PG-EE-2022 (Statistics) Code-A
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- 45, The bisection method is applied to compute a zero of the function
f (x) = x* — x® — x® — 4 in the interval [1, 9]. The method converges to a
solution after :

(1) Firstiteration o (2) Three iterations
(3) Twoiterations & (4) Fiveiterations
46. If f (x) = x% then the‘sécond order divided difference for the points
X, X, X, Will be :
e : v g
Q) -1 o Sl
(8 1~ g
47. The order of convergence o}f Newton-Raphson method is
1) 2 y , 2 3
@) 0 - @ 1
48. The second approximation to a root of the equation x2 — x —'1 =0 in the
interval (1, 2) by bisection method w_ill be
1) 19 : (2) 2356
@) 175 @ 15

PG—EE-,2022 (Statistics) Co‘de-A
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Questions

49.

1) Tangent method

3) Chord method

‘The Newton-Raphson method is also called as

g o Secant method

(4) Diameter method

ationsis -

- 50. Newto

=

Ay e

u
()A‘YO
1 I

+r-1

(3) I yO Zl (u

r

n’s formula for backward differences with usual not

s

(aynactyl —yo+Z (uﬂ)

(4) None of these

Interpolation provides go

i

| 51.

-

(4) All of the above

(1) The change of values is consistent
(2)  The series does not refer to abnorm

3) The argumenté are equidistant

od ostimates of missing values if and only

al periods

52.

1) Constant

(3) Variables

The third difference of a cubic A®

y function are
Non constant

2)

(4) None of the above

PG-EE-2022 (Statistics) Code-A
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Qu;lstion ' : Questions
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53, Who is the father of Computer ?
(1) Allan Tliring : (2) Charles Babbage

3) Simur Cary (4) Augusta Adaming -

54, _CD-ROM stands for

(1) Compactable Read Only Memory '

(2) Compact Data .Read Only Memory

(3'). Compactable Disk Read Only Memory

@) Compact Dlsk Read Only Memory

55. Whlch of the following is the binary eoulvalent of the dec1mal
number 35 ?
(1) 10001 @ 100101 _
(3) 100011 ot sia @) - IOIOOi
~ 56. What is unit of information ?
1) Bit e e
3) Gram : . 4) 'Heri:z '

PG-EE-2022 (Statistics) Code-A
' : (16)
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517. Which shortcut kes; is used, to find a particular word in a word
document ? .
(1)) CTRL+S ’ (2) CTRL+F
3) C'TRL +R (4) CTRL+Y
58. | VGAis
(1) Video Graphics Array - (2) Visual Graphics Array
(8) Volatile Graphics Array (4 | Video Graphics Adapter
59. What does USB stahd .for ? 4
(1) Universal Signal Board 2 Univers'al Signal Bus
(3). Universal Serial Bus (4) Universal Serial Board
- 60.

Which of the following is the correct abbreviation of COMPUTER ?

(1) Commonly Occupied Machines used in Technical and Education

Research

(2) Commonly Operated Machines used in Technical and Envir;)nmental

Research

(3) Commonly Oriented Machines used in Technical and Education

Research

(4). Commonly Operated Machines used in Technical and Educational

Research

PG-EE-2022 (Statistics) Codé-A
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61. The word ‘Statistics’ is used as
(1) Singular e 2) Plgral
(3)_ Singular and Plural (4) None of thesé .
- 62, In an exclusive type distribﬁtion, the lim'its excluded are :
(1) Lower limits
(2) Upper limits
3) | Either of the lower or uppér limits
(4) Lower and upper limits both ' "
63. With fhe help of the Ogive curve, one can determiﬁe -
. (1 Median ‘ (2). Decﬂes-
(3) Percentiles ’} (4) All the above

64.

The most appropriate diagram to represent the data relating to the

monthly expenditure on different items by a family is :
(1) Histogram e (2) Pie Chart

(3). Frequency Polygon 4 Line graph

PG-EE-2022 (Statistics) Code-A
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No. :
65. The correct brelationship between A.M., G.M. and H.M. is :
1) AM.=GM.=HM. (2 GM.>AM.>HM.
@) HM.>2GM.=2 AM. 4) AM.>GM.>HM.
66. For a ‘group of 100 candidates, the mean was found to be 40. Later on,

it Was. discovered that a value 45 was misread as 54. The correct mean

18 ;

68.

(1) 40.50 ’ (2) 39.85
3) 39.80 : 4 3991
67. The correct formula for variance of ‘n’ sample observations x,, X,, ...... g o
1s ‘
‘.n_l i l n-—1 i :
l 2 % 2. =2
L e @ —Z&-%)
Average wages of workers of a factory are Rs. 550 ‘per month and

the standard deviation of wages is 110. The coefficient of variation

18
1) 30% o ©@) 15%
(3) 500% @) 20%

PG-EE-2022 (Statistics) Code-A
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89, In case of positive skewed distribution, the relation between mean, median
and mode is : '
(1) Median > Mean >Mode (2) Mean > Median > Mode
(38). Mean = Median =Mode (4) 2Mean =1.5 Median = Mode
‘ 70. The idea of product moment correlation was given by :
1) RA Fisher . (2) Sir Francis Galton
(38) Karl Pearson 4) Spearm.an 1
7 1.‘ Standard error of the sample correlation coefficient ‘r’ is based on ‘n’
paired values is :
1412 ' 1+1%
(1) = 2)
- » 1+r?
4)
v v

72;

If the value of multiple correlation coefficient is near to 1, it leads to the

conclusion that :
(1) There is a lack of linear relationship
(2) Linear relation is a good fit

(3) There is a curvilinear relation

(4) All of the abové

PG-EE-2022 (Statistics) Code-A
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73. Regression ceefficient is independent of :
(1) Origin ; (2) Scale
(3) Both origin and scale (4) Neither origin nor scale
T The function Y = a + bX + cX? + dX® represents :
(1) A hyperbola : (2) An exponential curve
(3) Aparabola ‘ (4) Gompertz curve
- 75, The mean deviation of the set of numbers 12, 6, 7, 3 15, 10, 18, 6
18 : : ‘ :
(1) 3.25 | @ 225
3) 4.25 (4) 5.25
- 76, If X’ is a random variable with its mean X, then the expression E (X — X)?

represents
(1) The variance of ‘X’ (2) Second Central moment
(3) Both (1) and (2) - A (4) The étandard deviation of ‘X’

PG-EE-2022 (Statistics) Code-A
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No.
If X’ is a random variable having its probability density function

’ 1
(pdf) f (x), then E (i) is called

(1) Ai'ithmetic Mean -(2) First Quartile
(3) Harmonic Mean » (4) All of these
. 78. The Probability function f (x), — o < x <  is said to be probability density

function if : '

1) [f)dx-1%0 ) (2 fimdx=]

® [fedx=1 @ [fedx=0

0 )
79. Let Xbe a continuous r.v. with pdf - 2

[ray 0%z
f(x) = a s i1sxs?
—ax+3a; 2<x<3
| 0 X R3]

then the value of ‘a’ is
(1) 04 : 2 0.5

@) 03 @ 0.1

PG-EE—2022 (Statistics) Code-A
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 80. Lef X be a random variable with the following probability distribution :
X {g> -3 6 9
EDEEERE
The value of E (X?) is
1) 435 ' () 45.37
(3) 465 (4) 434
~ 81. If X ~ N (p, o), then the standard n’ormal' variate is distributed
as | |
M N, @ N@o)
| ® No @ N@o
82. The moment genera_\ting function of Poisson distribut_ion is
A ¢¢-D g @ e
(3} et—1 | , (4)‘ oh (1-¢Y)
83. The distribution function of the exponential distfibution with parameter
. ‘N is given by
(1), ed%s | 2) e**-1
@) l-et @ —e™

PG-EE-2022 (Statistics) Code-A
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~ No. ;

84. Which of the following is the mode of the rectangular distribution with
’ parameter A and B ?

A+B i A-B

W 15 2) T
(3) Mode does not exist 4 A+B
85. The Quartile Deviation of the normal distribution is
» 1 ‘ -3
(1) QD.=-c 2 QD.==c
2 A
3) QD.= 5 c (4).  QD.= 7 c

86. If A and B are two independent events, then P (A N B) is equal to

(1) P(A)P(B) (@ 1=P@AUB)
3 [M1-PA)][1-P@®B) (4) All of these
_87%. The moment generating function of the geometric distribution is
L qp
M l1-qe' - @ 1-gqe
P ' . ‘s
@ s qe' (N a+ pe'

PG-EE-2022 (Statistics) Code-A
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. 88. Which of the folloWing is true ?
1) E@X+b)=aEX) . 2) E@X+bY)=aEX)+b
B E@X+bY)=aEX)+bE() @ All of the above .
- 89. Two dice are rolled by two players A énd B. A throws 10, the probability
that B throws more than A is
1 1
T B s
e | & 1
W SELY
90. The mean of Binomial distribution B (n, p) is
(1) np ' (2) np -1
3 np+1 - | 4 1-np
- 91, When was the first census held in India? -

(1) 1870 @ B

(3) 1872 ' (4) 1874

PG-EE-2022 (Statistics) Code-A
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92. | Which of the fc‘)llowing.i‘s not .é division of NSSO ?
( 1‘)' Coordinetion end publication Division

(2 Field Data Division

(3) Data Processing Division

“4) Survey Design and Research Des1gn

93. The purchasmg power of money is

(1) Reciprocal of price 1ndex number
(2) Equal to price index number

(8) Twice the price _indek number

1 4) bUn‘equal to price index number_ '

94, _ Fisher’s ideal formula does not satisfy :

(1) Time reversal test . (2) Circular-test‘
(3) Factor 'reversel test @) Unit test
95 | Which index number s_eti'sﬁes factor reversal test ?
(1) Paasche’s Index : 2 La'speyre’s Index
(3)- Fisher's Ideal Index - W Walsh}P_rice Index

PG-EE-2022 (Statistics) Code-A
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96. Ih a chain b‘ase method, the base périod is
(1) Fixed ‘ . : (2) Not fixed
(3) Constént | 4) Zero
97. In India, the collection éf vital statistics started for first time in
| (1) 720 | : 2) | 1886
3) 1969 (4) 2014
98. v.The death rate obtained for.a segment of a population is known as
(1) Specific death rate . 2) Crude. death rate -
(3) Standardized 'raté (4) Vitalindex
99'.. 'The elasticity for demand of the dﬁrable goods is |
| (1) Zero _ ‘ @) - Equal to unity
(3) Greater than uﬁity (4) Lessthan unity .
"100. When the price of a product falls by .10% and its demand rises by 30%,

then the elasticity of demand is.
(1) 13 ‘ 2) 3

@ L @) 30

PG-EE-2022 (Statistics) Code-A
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CANDIDATES MUST READ THE FOLLOWING INFORMATION/

INSTRUCTIONS BEFORE STARTING THE QUESTION PAPER.

1.. All questions are compulsory.

2. The e¢andidates must return the Questlon book-let as well as OMR

~ answer-sheet to the Invigilator concerned before leaving the Examination Hall,

failing which a case of use of unfair-means / mis-behaviour will be registered :
against him / her, in addition to lodging of an FIR with the police. Further the
answer-sheet of such a candidate will not be evaluated.

9 Keepmg in view the transparency of the examination system, carbonless OMR

- Sheet is provided to the candidate so that a copy of OMR Sheet may be kept by

the candidate.

4. Question Booklet along with answer key of all the A,B,C and D code will be [
ﬁ)loaded on the university website after the conduct of Entrance Examination.

case there is any discrepancy in the Question Booklet/Answer Key, the same

may be brought to the notice of the Controller of Examinations in writing within

24 hours of uploading the same on the University Web81te Thereafter, no

complaint in any case, will be considered. :

5. - The candidate MUST NOT do any rough work or writing in the OMR Answer-

. Sheet. Rough work, if any, may be done in the question book-let itself. Answers
MUST NOT be ticked in the Question book-let.

6. There will be no negative markmg Each correct answer will be awarded
one full mark. Cutting, erasing, overwriting and more than one answer
in OMR Answer-Sheet will be treated as incorrect answer.

7. Useonly Black or Blue BALL POINT PEN of good quality in the OMR Answer-
Sheet. :

8. BEFORE ANSWERING THE QUESTIONS THE CANDIDATES SHOULD
ENSURE THAT THEY HAVE BEEN SUPPLIED CORRECT AND COMPLETE
BOOK-LET. COMPLAINTS, IF ANY, REGARDING MISPRINTING ETC. WILL

NOT BE ENTERTAINED 30 MINUTES AFTER STARTING OF THE'
EXAMINATION. A
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Question

* No. Questions
; Standard error of the sample correlation coefficient ‘r’ is based on ‘n’
paired values is : '
) lj}; : k-1 | @ 1+1°
) lj{ | e % f/% |
l 2. If the value of multiple correlation coefficient is near to 1, it leads to the
conclusion that :
(1) There is a lack of linear relationship
(2) Linear relation is .a good fit
(3). There is a curvilinear relation
(4) All of the above-
el Regression coefficient is independent' of :
(1) Origin (@ Scale
(3) Both origin and scale (4) Nelither origin nor scale
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.Question
No..

Questions

4.

The function Y = a + bX + ¢X? + dX® represents :
(1) Ahyperbola '(2) An exponential curve

(3) Aparabola : (4) Gompertz curve

The mean deviation of the set of numbers 12, 6, 728,116, 10, 18, 5

18 :
(f) Supd nera Bt e @) 225
@) 4.25 @) 525

IfX’ is a random variable with its mean X, then the expression E (X - b 4y

represents
(1) The variance of X’ (2) Second Central moment
3) Both (1) and (2) " (4) . The standard deviation of X’

If X’ is a random variable having its probability density function

1
(pdf) f (x), then E (i) is called

(1) Arithmetic Mean (2) First Quartile

(3) Harmonic Mean : (4) All of these

PG-EE-2022 (Statistics) Code-B

(@)




Set-X

Leét X be a random variable with the following probability distribution :

X = 6 9
| S B i X
2 ot 6 2 3
The value of E (X?) is
(1) 435 (2) 4537
(3) 46.5 (4) 434

Code-B
Question Questions’
No. -
8. The Probability funé:tion f (x), — 0 < x < 0 is said to be probability density
function if : .
1) [fEdx-120 @ [fedx=1
@ [f@d&=1 . - @ - [f®dx=0
! 0 : -0, i
9. Let X be a continuous r.v. with pdf
v [ apre arpaxikl
f&x) = a jex< 2
l—ax+3a; 2<x<3
| 0 rx>3
then the value of ‘a’ is ;
(1) 04 s (2) 0.5
(3) 0.3 S i ol
- 10.
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No.

Questions

i ddle

Interpolation provi'des good estimates of missing values if and only
if: :

‘(1) The change of values is consistent
(2) The series does not refer to abnormal periods

(83) The arguments are equidistant

(4) All of the above

12.

The third difference of a cubic Ay function are
(1) Constant : @) Non constant

3) Variabies : (4) None of the above

5

Who is the father of Computer ?
(1) Allan Turing (2) Charles Babbage

(3) SimurCary (4) Augusta Adaming

. 14.

CD-ROM stands for
(1) Compactable Read Only Memory
) C'ompact Data Read Only Memory

(3) Compactable Disk Read Only Memory

| 4) Compact Disk Read Only Memory

PG-EE-2022 (Statistics) Code-B
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Qu;stion i : , Questions
0.

15. Which of the following is the binary equivalent of the decimal

number 35 ?

(1) 10001 : (2) 100101
(3) 100011 | : 4) iOiOOl
16. What is unit of info_rmation.? :
(1) Bite” ‘ (2) Bite
(3) Gram » (4) Hertz
‘17; Wflich shortcut key is used, to find a particular word in a word
document ? .
(1) CTRL+S (2) CTRL+F
3) CTRL-_I-R ' (4) CTRL+Y
18. VGA is |

(1) Video Graphics Array (2) Visual Graphics Array

(3) Volatile Graphics Array  (4) Videb Graphics Adapter

19. What does USB stand for ?
(@) Uriiversal-Signal Board (2) | Universal Signal Bus

3) Univérsal Serial Bus (4) Universal Serial Board

PG-EE:2022 (Statistics) Code-B:
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Question

Questions
No.

- 20. Which of the following is the correct abbreviation of COMPUTER ?

(1) Commonly Occupied Machines used in Technical and Education

Research

v Commohfy Operated Machines used in Technical and Environmental

Research

3) Commonly Oriented Machines used in Technical and Education

Research

(4) Commonly Operated Machines used in Technical and Educational

Researéh

21. If X ~ N (u, o2), then the standard nérma.l variate is distributed

as
1) N(0, 0% | 2 | N (u, 0%
@ N1 @ N@O0
‘ : | 22. The moment generating fuhctiqn of Poisson distribution is
V) exten D e
3) et=1 iR 4) ert-e
23. The distribution function of the e‘xp;)‘rleﬁtiél distribution §vith parameter
‘N’ is given by '
1) e‘.”x 2 “etr*—1
| @ 1-er @) —ex

PG-EE-2022 (Statistics) Code-B
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No. o
24. Which of the following is the mode of the rectangular distribution with
parameter Aand B? L :
CAaE A-B
G, =8 Gy, =8
(8) Mode does not exist (4 A+B
.25, -The Quartile Deviation of the normal distribution is
1 4 ’ 2
3% 2 p - 3 ‘ il
3) QD.=—¢ 4 QD.= ~0
415 g
- 26. If A and B are two independent events, then P (A N B) is equal to
(1) P(A) P(B) (2 1-P(AUB).
@) [1-P@A)][1-P®B)] (4) All of these
217. The moment generating function of the geometric distribution is
. T e qp
1 l1-qe' 2) 1-qe'
g » q
(3) l_qet (4) : l_pet :

PG-EE-2022 (Statistics) Code-B
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No.

Questions

28.

Which of the following is true ?

1) E@X+b)=aE® @ E@X+bN=aB®+b -

3). E@X+bY)=aE X)+bE) 4  Allofthe above

29.

Two dice are rolled by two players A and B. A throws 10, the probability

that B thr;bw‘s more than A 1s
1 : T
O 3 @ <

1 : A
3 g 4) 16

TR |

30.‘

The mean of Binomial distribution B (n, p)is
(Biinp . g (2) np-1

@) np+1 : (4) 1 —np

31.

The mathematical expression for continuity of a function is

1y fmfE@=f@Veelbl @ Gmf@=1E)Tee®d

3) tim f (x)=f (c),Vcela, b) @) timf (x)=f(c),Vce (a,b]

X—>C X—>C

PG-EE-2022 (Statistics) Code-B

(8)




Question Questions
No. ‘
LR dy .
32. For 2x + 3y = sin x, then value of 5 18
cosx—2 © CoOsX—2
g @ =
- tanx -3 sinx —2
3 G S 4) e
e e dy .
33. Ifx=6sin"!2tandy = =, then — is
i 4t “dx
X : ’ o b X 3
W e ) ey
: f i
& e @ 3040
, '
34. €irr(1) (a ;b ) is equals to
@) b @ sab
; S
@) Jab @ 3

PG-EE-2022 (Statistics) Code-B
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35. v If'f” be a continuous and differentiable function on (a, b), then the cond.ltlon
for the function f’ to be i increasing is
(1) £'®)<0 v x,x, ¢ @b
2 f'®>0 vy . x2'é (a, b)
@) f'®=0 vx,x,¢(,b)
@ f'®20 vx,x ¢ @b
g .
- 36. The integral I sin® x cos? x dx is
; 0

4 : » 1
(1) 3 e 2 16
@ 5 T

16

: b a
87.. | The name of the property _[f x)dx = I f(x)dx is
a b

(1) Reverse integral property (2) Adding intervals property

(3) Zero interval property (4) Adding integrand property

PG-EE-2022 (Statistics) Code-B
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38. At the point x =0, the function f (x) = | x|, — .1 <x<1lis
(1) Continuous and differe_ntiable

2) Non-continuous and differéntiable

(3) Continuous and non-differentiable

(4) Neither. continuous nor differentiable

. 5 =
39. The function f (x) = 3 18
: 4x - X

(1) Discontinuous at one point
(2) Discontinuous at exactly two points
(3) Discontinuous at exactly three points

| (4) Continujus at all points

2
1
40. The integral dx converges to
- - 1'[ vx? -1 ‘ :
()—2 -~ | 2 1
@) 0 4) 3

PG-EE-2022 (Statistics) Code-B
' (11)
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No.

Questions

- 41.

When was the first census held in India ?
(1) 1870 : (2 1871

(3) 1872 ' () 1874

42,

Which of the following is not a division of NSSO ?

(1) Coordination and publication Division

(2). Field Data Division

(3) Data Processing Division

(4) Survey Design .and Research Design

- 43.

The purchasing power of money is

(1) Reciprocal of price index number
(2) Equal to price index number

(3) Twice fhe price index number

(4) Unequal to price index number

44.

Fisher’s ideal formula does not satisfy :
(1) Time reversal test (2) Circular test

(3) Factor reversal test . (4) Unit test

PG-EE-2022 (Statistics) Code-B
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- No. e
45. ‘Which index number satisfies factor reversal test ?
1) Péasche’s Index .. 2) - LaSbeyre’s Index
(3) Fisher’s Ideal I;ldex - 4) Waish Price Index
: 46.. In a chain base method, the base p'eri.od is
(1) Fixed @ Not fixed
(3) Constant ; (4) Zero
[ 47, = Iﬁ India, thé collection of vital statisticé started for first time in
(1) 720 (2 1886
3) 1969 | - 4) | 2014
| 48. The death rate obtained for a segment of a population is known as
(1) Specific death rate ' (2) Crude death rate
(3) Standardized rate. i (4) Vital index
- 49. The elasticity for deménd of the durable goods is

(1) Zero (2) Equal to unity

3) Greater than unity (4) - Less than unity

PG-EE-2022 (Statistics) Code-B
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No.
- 50, When the price of ’a product falls by 10% and its demand risés by 30%,
| thgn the velasvticity of demand is |
1) 13 , : e oy g .
) 10— ' @ 30
r 51. :The word ‘Statistics’ is used as
ipidnies " (@ Plural
(3) Singular and Plural (4) None of these
| 52, In an exclusive type distribution, the linhl‘it.s excluded are :
(1) Lower limits
(2) Upper limifs
(3) Either of the lower or upper li'lllifS
(4) Lower and upper limits bofh
53. With the help of the Ogive curve, one can determine :
(1). Median - (2) De;:iles
(3)‘ P‘ercentiles ' (4) All the above

PG-EE-2022 (Statistics) Code-B
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% Questions
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54. The most appropridte.diag"ram to represent the data relating to the

monthly expenditure on different items by a family is :
(1) Histogram (2) ' Pie Chart

3) Fréquency Polygon 210Y4) ' Line gréph

55. The correct relationship between AM., G.M. and HM. is :

(1) AM.=GM.=HM.  (2) GM.>AM.>HM.
@ HM.>2GM.2AM. (4 AM.>GM>HM
| 56. For a group of 100 candidates, the mean was found to be 40. Later on,

it was discovered that a value 45 was Iﬁisread as-54. The correct mean

RO
(1) 40.50 (2) 39.85
(3) 39.80 4) 3991
57 The correct formula for variance of ‘n’ sample observations X Xo i y
is :
W =Y &-0 @ = T&-D)
o v 1 i : n-1 i :
1 e 1 §
@ -2 &-%° @ -2 &-%)

PG-EE-2022 (Statistics) Code-B
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58. Average wages of workers of a factory ére Rs. ’550. per month and
the standard deviation of wages is 110. The coefficient of variation |
is- v v
(1). 30% (2 1%
(8) 500% 4) 20%
59. In case of positive skewed distribution,_ the relation between mean, median
~and mode 1is :
(1) Median > Mean > Mode | (2) Mean > Median > Mode
(3) Mean = Median =Mode | (4) 2Mean=1.5 Median = Mode
60. The idea of product moment correlation was given by :
(1) R.A.Fisher » ' (2)  Sir Francis Galton
(3) Karl Pearson ‘ (4) Spearman
1
61. /im n" 1is equal to
@) Modign, i @ 0
@) e (4) Log?2

PG—EE-2022 (Statistics) Code-B
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62. | Theset {(—1)"n} is -
(1) Bounded below but not above
(25 Bounded above but not below ’
| (3 Bounded
(4) Neither bounded below nor bounded above
" ) _
63. If fx) = 2 on [1, 4], then the values of L [f, P] and U [f, P] for the
partition P = {1, 2, 3, 4} of [1, 4] are
9o q : : 61 49
D 1436 oe0 - (45 142234
Lo fieng . | .
3) 4 1’36 | (4) None of these
64. Iff: [a, b] > R is a bounded function and P, P’ € P [a, b] such that P c P,

then which of the following is true ?
A LEP)>LEP) = @ UEP)<UEP)

@ LEP)s<LEP) (4) Both (1) and (2) are true

PG-EE-2022 (Statistics) Code-B
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65. Every infinite bounded set of real numbers has a limit point. This result
‘isknown as
' (1) Heine-Borel Theorem (2) Cauchy I* theorem Olil limits

3) Cauchy 2" theorem on limits  (4) Bolzano-Weierstrass theorem

rT :
66. . The series Z cos (H) is

.=l

(1) Convergent . (2) Divergent
(3) Oscillating finitely (4) Oscillating infinitely
67. A set of values of decision variables which satisfies the linear constraints

and non- negat1v1ty conditions of a LPP is called its
1) Unbounded sohition : (2)° Optimum solution '

(3) Feasible solution .(4) None of these

PG-EE-2022 (Statistics) Code-B
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Questions

68..

(0, 8)

(4, 10)

(6, 8)
(6,5)

Feasible
‘Region

1) ©0
® 0

(0,0)}

v

(5,0

2 0.8

4) (4,10)

The feasible region for a LPP is shown shaded in the figure given below. If

7 = 3x — 4y be the objective function, then minimum of Z occurs at

69.

| (4) Atmost one of the basic variable is zero

A basic solution is called non-degenerate if
(1) All the basic variables are zero
(2) None of thé basic variable is zero

(3) At least one of the basic variable is zero

' Linear Programming Problem (LPP) involving more than two variables

can be solved by

. (1) Graphical method

(3) Hungarian method

(2) Matrix minima method

'(4) Simplex method

PG-EE-2022 (Statistics) Code-B
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Questions

o

The coefficient of slack variable in the objective function is
@ <M. @ M

@) 0 oo G ]

72.

For maximization LPP, the Simplex method is terminated when all

values
fiy 6-Z50 @ C+Z>0

() C,~%0 ) CHZ<0*

73..

The assignment problem is

(1) Non-linear programming problem

(2) Dynamic programming problem

(8) Integer linear t)rogramming problem

(4) Integer non-linear programming problem

_74.'

| The solution toa Transportation Problem (TP) with ‘m’ rows and ‘n’ columns

is basic feasible if number of positive allocations are
(1) m+n (29 m-n _ .

{9 in+n_1 8 m+ndd

PG-EE-2022 (Statistics) Code-B
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Question - Questions
No.
‘The bisection method is applied to compute a zero of the function

f (%) = xi_ x? — x% — 4 in the interval [1, 9]. The method converges to a

solution after :

(1) Firstiteration (2) Three iterations
(8) Twoiterations (4) Five iterations
76. If f (x) = x2, then the second order divided difference for the points
Xy X, X, will be ’
Dol | 5 - =
@ - raEy
- - 1
W 4) X, — X,
77. The order of convergence of Newton-Raphson method is
(1) 2 L
@ 0 e 4 1
78. The second approximation to a root of the equation x2 — x — 1=0 in the

mnterval (1, 2) by bisection method will be
1) 19 | @ 235

® 175 @ 15

PG-EE-2022 (Statistics) Code-B
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‘ 79. "The Newton-Raphéon method is also calied as
(1)' Tangent method : 2 Seéant method
(3) Chord method . ' 4) | Diametér method
80. Newton’s formula for backward differences;vith usual notations is
(1) yx=yo+§[r)A’yo | @) Ayx=yo+§(u:r)v’y,
@) y,.= y0_+il (u_ +rr *l) V', (4). ‘ None of these
- ‘ Lo : : diy / dy) _
| 81. The order and degree of the differential equation §+ 1+(&) =0
are | :
-(1) First order, second degree
(2) First order, first degre.e
(3) Second degree; second order
(4) Second order, first degree
82. The nt* order ordinary linear homogeneous differential equation
has
(1) n-singular solutions 2 : no singlilar solution
(3) one sihgular solution 4) (n — 1) singular solution

‘PG.-EE-2022 (Statistics) Code-B .
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Wi X8 . dy dy : .«
- 83. The differential equation o + - 2y =0 has the solution
(1) y&e e ™+c & Q) ymee ™
) 'y T, et e it 4 y=ce®=+c,e™
| | R, . ko : : : A
84. The equation o + Py = Q is linear differential equation of first order
if
(1) P, Q are functions of x only
(2) P, Q are the functions of y only
3) P,Q are the functions 6f x and y
(4) P, Q are the functions of none of x and y
85. The integrating factor for the differential equation

dy T
+ PRl - A3x + 2 s
x+1) Paskah Sl (x+1)? is

Fo s ‘
| (1) FTRY 2 x+1
¥ |
3 4 x2-1

x2 +1

PG-EE-2022 (Statistics) Code-B
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86. The necessary condition for the equation M (x, y) dx + N (x, y) dy =0 tobe |
exactis - '
N _ oM N_ oM
O o ® e
oM _oN M _ ON
® 5 @
87. The differential equation derived from y=Ae*+Be2>:AandB are

constants has the order
(1) 3 1

3 2 4) 4

- 88.

'The ordinary differential equation x d_)}(l —y = 2x? with initial condition

y (0) =0 has
(1) No solution

(2) A unique solution

(8) Twodistinet solutions (4) An infinite number of solutions

PG-EE-2022 (Statistics) Code-B
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Question Questions
No. ~
89. Which of the following statement is true ?

(1) The sét Q of rational numbers is neighbourheod of each of its

points
(2) The set R of real numbers is neighbourhood of each of its points

(3) The set N of natural numbers is neighbourhood of each of its

points

(4)  All the above statements are true

80. If . fﬂ?o anflr' = nggrolo a,; A1 provided fhat the limit on RHS exists. This result |
is known as : |
(1) Heine-Borel theorem (2)  Cauchy 2™ theorem on limits
. (3) Squeeze princible (4) Leibnitz’s rule
: 91. ‘For a subspace W of a ﬁnite‘ dimensional vector space V (F), Dim (%’/‘J is
equal to
() DimV-DimW (2) DimV
(3 DimW . n

Dim W

PG-EE-2022 (Statistics) Code-B
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-1

92. The set of ordered triplets (a, a,, 0) of R? has dimension

(1), i ' 2 2
o3 | @ 4

93. | A set of vectors containing the null vector is

(1) Llnearly Independent (2) Linearly Dependent

(3) Both (1) and (2) (4) None of these
94, A bijective linear transformation is called

(1) Homomorphism . (2) - Monomorphism

(3) Epimorphism - (4) Isemorphism

coso  sin a]
s

95. The matrix [_ sina cos | 1

(1) Unitary _ 2) .Skew-S}‘fmm'etric
(3) Orthogonal (4) Hermitian

96 The characteristic roots of the matrix [\/25 : ijl are
1) 21 . : @) o, 3
@ 1,2 @ 2,2

PG-EE-2022 (Statistics) Code-B
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0. b

' 100.

V. The set of vectors X =(2 1.4, X2'= =3.2 “1)’ X, =0, - 3, - 2
18 |
€)) Linearly dependent (2 Linearly Independent
(3) Both (1) and 2) | (49 None of these
98. The product of the eigenvalyes of the matrix A ig equal to
1 Al o of A
@ 1 @ o _
99. IfAisg Square matrix, thep A Qmm

¢)) Symmetric (2) Skew Symmetrjc

(3) Hermitian

(4) Skew Hermitian

IfAis an oy thogona] matrix, then
(1) 1A = @ 1A=
3 Al =1 4 |A|=_1

(27)
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1.

The coefﬁéient of slack variable in the objective fupction is
@ -M A

ay o AT 1 (]

For maximization LPP, the Simplex method is terminated when all

values

@ C-Z>0 (@ C+Z>0

@ C-Zs<o - @ C+Zso

The assignment problem is ‘

(1) Non-linear programming problem

(2) Dynamic prog_rammihg problem

(3) Integer linear programming ptoblefn .

(4) Integer non-linear programming problem

The solution to a Transportation Problem (TP) with ‘m’ rows and ‘n’ columns

is basic feasible if number of positive allocations are
(1) m+n (2 m-n

B m+n-1 : o @ m+n+1
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 5.' The bisection method is applied to compute a zero of the function

f(x) =x* -~ x3—x? —4in the interval [1, 9]. The method converges to a
solution after :

(1) Firstiteration (2) Three iterations -

(8) Twoiterations: e @) Five iteratisns

6. If f (x) = x% then the second order divided difference for thé points

Xy X,, X, will be oy el :

. : ' i
(1) -1 ' : (2) —XlTxb
Ty i @1 : @ X; X
04; e :
i > 7. The order of convergence of Newton-Raphson method is
23 : : :
n « .= o @ 3
E @ 0 <o fdy
8. | The -secdnd approximation to a root of the equation x2 — x — 1 = 0 in the

interval (1, 2) by bisection method will be
gy 16 @ 235

@ 17 & My 1B
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9. The Newton«_Raphson method is also called as
1) Tangent method ., (2) - Secé.nt method
(3) Chord method " v . (4) Diameter method
- 10. Newton’s formula for backward differences with usual notations is
et & (u r ' | flusr)
(1) YX=y0+Z(rJA_ yO . » (2) .YX=y0+ ( r )V'Yr
ri=] : 2 1 ' r=1

4 n 1
() Yi=Yo+2. [u+r } Yo - (4)  None of these

r=1

: © S S d’ ’ d
11, The order and degree of the differential equation -&X—Z+ 1+( di) =0

are

(1) First order, second degree
2) First}o-rder, first degree
(3) Second degree; second order

~ : (4) Second order, first degree

12, The n** order ordinary linear homogeneous differential equation
has :

(1) n-singular solutions (2) nosingular solution

(3) one singular solution (4) (n-1)singular solution

PG-EE-2022 (Statistics) Code-C
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13.

| ; ooz dPyi by o8 -
The differentidl equation # + ﬁ —2y =0 has the solution

(1) y'=cl e >+, e (2) y=cex

3 y=cl'e‘2"+cze"‘+cs 4) ¥ =0, T Wiy p Feo

14.

X
if

(1) P,Qare functions of x only
(2). P, Q are the functions of yonly
3 P, Q are the functions of x andy

(4) P, Q are the functions of none of x and y

d : :
The equation EX + Py = Q is linear differential equation of first order

15.

The integrating factor for the differential equation
dy '
+ —_— v = adk + 2 3
x+1) ra yr e™ (x+ 1) is

1

(1)‘ m | @2 x+1

|

v

1 8 —— - @ x*-1

X“+1

PG-EE-2022 (Statistics) Code-C
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16.

The necessary condition for the equation M (%, y) dx + N (%, y) dy =0 to be

exact_is

oN_am N__om
& 2 = =
oy M_ON oM__OoN
3) oy = ox 4) By g ox

17.

The differential equation derived from y = A e* + B e > ; A and B are

constants has the order
1) 3 - @ 1

(@ oo . @ 4

i

The ordinary differential equation x £ y = 2x2 with initial condition

dx
y (0) =0 has
(1) Nosolution = - 2 A uni‘que solution
(3) Two distinct solutions (49) An infinite number of solutions

PG-EE-2022 (Statistics) Code-C
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19. Which of the follow_ing statement is true ?

(1) The set Q of rational numbers is nelghbourhood of each of its '

 points v
#)) The set Rof real numbers is neighbourhood of each of its points

(3) The set N of natural numbers is neighbourhood of each of its
points '

(4) All the above statements are true

e
n

20. | If fima_

fima," = fim y : provi(ied that the iimit on RHS exists. Thig result
E is known as | ;
R ’(1)' Heine-Borel theorem (2) Cauchy 2~ theorém on limits
3) Squegzé principle 4) 'Leibnité’s rule

- 21. For a subspace W of a finite d1men31onal vector space V (F) Dim ( ) is

\'%
equal to |
(1) DimV-DimW : (2) DimV
. Di
| 3 Dimw il

| Dim W

1

PG-EE-2022 (Statistics) Code-C
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22.

The set of ordered triplets (a,, a,, 0) of R? has dimension
M 1 L o

@) 3 4) 4 '

. 23,

A set of vectors containing the null vector is .’
(1) Linearly Independent (2) Linearly Dependent

(3) Both (1) and (2) .(4) None of these |

24.

A bijective linear transformation is called
(1) Homomorphism 2) Monomorphiém

(3) Epimorphism (4) ¢ Isomorphism

- 25.

cos o sin o
18

The matrix [_ A R S

(1) Unitary ‘ : . (2) Skew-symmetric °

(3‘)> Orthog.onalA : (4)‘ Hermitian

PG-EE-2022 (Statistics) Code-C
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T | , 21 eyl
26. The characteristic roots of the matrix ,: 2 1 :l are

@ 21 - @ 0,3
@ L2 . @b

| 27. | The set of vectors X, = (2, 1, 4), X, = (- 3, 2, - 1), X, = (1, = 5, _ 2)

is
._(1) Linearly dependent | .(2) Linearly I‘nde;pendent‘
@ Both (yand @)~ = (4) Neons-of thess:

‘ 28. The product of the eigenvalues of the matrix A is equal to

(1) AL ' : (2) Traceof A

@ 1. | ‘. | L) 0

- 29, | IfAisa équare matrix, then A + A’, AA’ and A’A are

(1) Symmetric , (2) Skew symmetric

| (3) Hermitian (4) Skew Hermitian
| _
PG-EE-2022 (Statistics) Code-C

- (8)



Set-X

Code-C
Question Questions
No. &
30. If A is an orthogonal matrix, then
@ IAlL=0 ‘ T Q) A =21
3 IAL=1 ’ (4): 1A'=
3% When was the first census held in India ?
(1) 1870 (2) 1811
(3) 1872 (4) 1874

32. | Which of the followihg is not a division of NSSO ? »
(1) Coordination and publication Division

(2) Field Data Division

(8) Data Processing Division

(4) Survey Design and Research Design

33. Thé purchasing power of money is

(1) Reciprbcal of price index number
(2) Equal to price index number

(3) Twice the price index number

(4) Unequal to price index number

PG-EE-2022 (Statistics) Code-C
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- 34. Fisher's ideal formula does ﬁot sétisfy 5 | e
(1) Time ‘reversal test (2) Circular test
‘(3) Factof reversal test =~ (4) Unit test
35. | Which index number satisﬁes' factor reversal test ? E
(1) Paasche’sIndex 2) Laspeyre’s Index
(3). Fisher’s Ideal Index (4) Walsh Price Iﬁdex
" 36. In a chain base metilod, the 'base period ‘ié
(1) Fixed g (2) Not fixed
(3) Constant : (4) Zero
317. In India, the collection of vital statistics started for first time in
(o0 & (2) 1886
) 1969, - , @) 2014
- 38. The aeath rate obtained for é segment of é population is known as
(1) Specific death ;'ate - (2) Crude death rate
PC ' (3) Standgrdized rate ‘ .v (4) Vital index .

PG-EE-2022 (Statistics) Code-C
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39. The elasticity for demand of the durable goods is
(1) Zero : (2) Equal to unity

(B) Greater than unity (4) Lessthan unity

40. When the price of a product falls by 10% and its demand rises by 30%,

then the elasticity of demand is

LR s ‘ )
@) 10 4) 30
41 The wbrd ‘Statisticsf is used as
(1) Singuiar (2) Plural
.(3) Singular and Plural (4) None of these
42, In an exclusive type distribution, the limits excluded are :

( 1) Lower ‘limits
Q) Upper limits
(38) Either of the lower or upper limits

(4) Lower and upper limits both

PG-EE-2022 (Statistics) Code-C

(11)




N

e .

PG

Set-X
| Code-C
| Question Questions
No.
43. With the help of the Ogive curve, one can determine : =
Licly’ s o3 1 " (@) Deciles
(3) Percentiles ' (4) All the above
| 44. | The most appropriate diagram to represent the data relating to the
- monthly expenditure on different items by a family is :
(1) Histogram e (2) Pie Chart
! - :
| 3) Frequency Polygon 4) 'Line graph
_ '45.- | The .co'rrect relationship between A.M., G.M. and HM. is: o
| @ AM.=GM.=HM. © GM.2AM.2HM.
(3 HM.2GM.2AM. (4 AM.>GM.2HM.
- 46. For a group of 100 candidates, the mean was found to be 40. Later;

it was discovered t.hat.a value 45 was misread as 54. The correct me:

18’
(1) 4050 @ 3985
@) 3980 v - (@) 3991

PG-EE-2022 (Statistics) Code-C
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417. The correct formula for variance of ‘n’ sample observations X0 $uoin o X
is
(1) L 2 (% -%’ ~ o >, xi -%%)

n-1 i n-1 i :
1 ) _1 2 =2
@5 2 ®-9 @ 2l %

48. Average wages of workers of a factory are Rs. 550 per month and
the standard deviation of wages is 110. The coefficient of variation
is :

(1) 30% @) 15%
(3) 500% (@) - 20%

49. In case of positive skewed distribution, the relation between mean, median
and mode is ; 4
(1) Median>Mean>Mode ' (2) Mean >Median > Mdde
(3) Mean= Median = Mode 4 2Mean=1.5 Median = Mode

- 50. The idea of product moment correlation was given by

(1)’ RA’ Fisher @) SikFranciaGalton

(8) Karl Pearson (4) Spearman

PG-EE-2022 (Statistics) Code-C
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- 1
51. fimn" is equal to

@ | @ 0

@ e (@ Log2

| 52'. | .'The set .{(.—: 1) n} is

) Bounded below but not above
2 Bounde_d abov_é bﬁt nbt below
(35 Bounded

(4) Neithe_r bounded below nor bounded Aabove

partition P = {1, 2, 3, 4} of [1, 4] are

9 7 ' 61 49

O agrager sy donpleving B iiape 3¢
o : ‘
- | (9) aamem . (49 None of these

144’ 36

: 0
83. If f(x) = 2 on [1, 4], then the values of L [f, P] and U [f, P] for the

PG-EE-2022 (Statistics) Code-C
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54. Iff: [a, b] >Risa bounded function and P, P’ € P [a, b] such that Pc P,
then which of the following is true ?
1) LEPY2LEP) @ UEP)<UEP)
3) LEP)<L{E P (4) Both (1) and (2) are true
55. Every infinite bounded set of real numbers has a limit point. '.This result
is known as
(1) Heine-Borel Theorem (2) Cauchy I*t theorem on limits
(3) Cauchy 2% theorem on limits (4) Bolzano-Weierstrass theorem
: : "o 1
56. The series 2, €08 (_r:) is
n=]
1) C.onvergent d) - Divérgent
(3) Oscillating finitely (4) Oscillating infinitely
57. A set of values of decision variables which satisfies the linear constraints |

and non-negativity conditions of a LPP is called its
(1) Unbounded solution (2) Optimum solution

(3) \Feasible solution (4) None of thesé

PG-EE-2022 (Statistics) Code-C

(15)




ﬁ

Set-X
Code-C

Question

- Questions
- No.

58. 'The feasible region for a LPP is shown shaded in the figure given below. If

Z = 3x — 4y be the objective function, then minimum of Z occurs at

N

(4, 10)

6,8)
6,5

0, 8
©.8) Feasible

Region

4

>

0,0 (5,0)
® 60 @ @10
59. | A basic solution is called non-degenerate if

(1) All the basic variables are zero
(2) None of the basic variable is zero
(3) At least one of the basié \(ariablé is zéro-

: (4)" Atmost one of the basic variable is zero

. 60. Linear Programming Problem (LPP) involving more than two variables

can be solved by

(1) Graphical method . (2) Matrix minima method
PG

' (3) Hungarian method (4) Simplex method
| o

| _ _
PG-EE-2022 (Statistics) Code-C
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61. | Standard érror of th'e"samp.le correlation coefﬁcienf ‘r’ is based on ‘n’
paired values is : | .
@ 1;; i g @ 1+1?
©) lj; i) R e f,:i
» 62. | If fhé value éf multiple correlation cpefﬁgnent 18 near to 1, it leads to the
conclusion that : |
) The’ré isa lack of linear relations_hip |
| ’(2) Linear»felation isa godd ﬁt |
3) There isa curvilinear felﬁtion :
(4) All of the above e
63. Re‘gre'ssion coefﬁ.cient. is indeb-endeﬁt of; e
, .(1)' Ongm . iy : (2) Scale
(3) Both oi'igin and scale = @ Nelther origin nor scale
64. The functlon Y=a+ bX +cX2 + dX’ represents :
(1) Ahyperbola - ,} | ' (2) An exponential curve
(3) Aparabola . X 4 Gompértz curve

PG-EE-2022 (Statistics) Code-C
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65. The mean deviation of thé set of numbers 12, 6, 7, 3, 15, 10, 18, 5
is: ' : '
M) 325 i 42) 235
@) 425 . . (@:b25
66. If X’ is a random variable with its mean X, then the expression E -3 |
represents’ ' : ‘ '
(1). The variance of v ©2) Second Central moment
3) Bothv(l) and (2) ~ (4) The standard deviation of X’
67. | If X is a random variable having its probability density function
(pdf) f (x), then E (s(‘) is called
(1) ArithmeticMean () FirstQuartile
(3) Harmonic Mean % (4) All of these
68. The Probability function f (x), — © < x <o is said to be probability density
function if : ' ‘
1) [fEd-120 @ [f®dx=1
@ [fdx=1 @ [fedx=0
o = : 3 - :

PG-E13-2022 (Statistics) Code-C
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then the value of ‘a’ is -

a, .'; _OS’xSl.
a s 1€x<2
—ax+3a; 2<x<3
19
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0.
"~ 69.

@ 05 -

1) 0.4
3) 03 4 0.1
- 70, Let X be a random variable wit_h thefolldWing probability distribution :
X 43 6 _ 9 |

WRCSEELT L gy D AT
P _(X. x) | > s =

The value of E X®)is - . _

(f HB" T A o) gy

@) 465 @) 434

s

If X ~N (n, o?), then the sta-ndard-_normél variate is distributed

as

| @ N@© o

®) NQ©,1)

@ N o

g

PG-EE-2022 (Statistics) Cocl‘»e'-Cv } .
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72. Th_e moment generating function of Poisson distribution is
M) ee-» . eeEon
1 (3 e-1 ‘ _ @) e a-eh
73. The distribution function of the exponential distribution with parameter
‘A’ is given by ;
(1) e Ax = S (2) erx_1
3) 1-e?* i M i
| T74. Which of the following is the mode of the rectangular distribution with |
parameter AandB? ‘ |
U AFB ! Sl 5
1) 3 .(2)_ 2
3) ‘Mode does not exist 4 A+B
The Quartile Deviation of the normal distribution is

@ QD.=30 @ D=3e

(3) Q.Dv.=v,-§—vo (4) Q.D.=-3—0‘

PG-EE-2022 (Statistics) Code-C

(20)




e E

Set-X
Code-C

Question

‘Questions
No. Qu

B d If A and B are two independent events, then P (A r_\."B') is equal to
| PAPB . o @ 1-PAUB)

S [1 2 P Al - P (B)] s (4). Aylllbf these

i 2 The moment generating function of the geometric diStributior; is
@ 1-qe D ,',.,_k'-*(z), 1-qe'
g < ' o

78. Whiéh of the following is true ?
) E(aX+b) aE® @ EGX+B)=aE@+b

.‘_(3) E (aX + bY) aE (X) + b E (Y) @ Al offhe above

7 9. Two d1ce are rolled by two players A and B A throws 10, the probablhty
that B throws more than Ais ' :
e o ' o am
®) Ilg . .. (4) : 1—16-’.
PG-EE-2022 :(Statisfics) CodeC
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80. The mean of Binomial distribution B (n, p) is
(1) np (2) np-1
3 np+1 49 1-np
81. The mathematical expression for continuity of a function is
Q) ¢imf (x)=f(c),Vcela, b] © fimf (x)=f (c), Vce(a,b)
(3)  fimf (x)=f(c),Vcela,b) ' 4) /imf (x)=f(c),Vce(a,b]
| G e
- 82, For 2x + 3y = sin x, then value of FRRLE
: _cosx¥2 cosx —2
Nar=s @ 3
, tanx -3 sinx —2 .
@ = @ ——
: S S Rl dy .
83. Ifx—631n12tandy~ﬁ,thenals.
SR _
O e @ ~15¢
o fe Bk
| @) TTae @ 30_4)
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84. fi_r)l‘}(a ;b Jx is equals to |
1) a+b (2 ab ‘
® Vab ol o
- 85. If‘f’ be a continuous and differentiable function on (a, b), then the condition
for the function ¢’ to be increasing is
D f'®)<0 v x,x, ¢ (a,b)
2 f'®>0 V X,, X, € (a, b)
1 @) f'x=0 V X, X, s'(a,.b)
4) f! (x) 20 vy xl,' X, e (a,b) -
o a _
86. The integral f sin® x cos? x dx is .
: : 3 i
& . | : . _ i
(1) E%) £ 2) 16
3) Te | 4) )

PG-EE-2022 (Statistics) Code-C
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87.

: b a
The name of the property j f(x)dx = j'f (x)dx is
: a b

(1) Reverse integral property (2) Adding intervals property

(3) Zero interval property (4) Adding integrand property

| 88.

At theA point x =0, the function fx)=Ix Iv, —-1<x<1lis
1) Continuous and differentiablé

(2) Non-continuous and differe_ntiable

(3) Continuous and non-diﬁ'erentiable

4) Neither continubus nor differentiable

89,

PG-EE-2022 (Statistics) Code-C

' : | 4%
The function f (x) = 318
; s 4x - x

(1) Discontinuous at one point
(2) Discontinuous at exactly two points
(3) Discontinuous at exactly three points -

(4) Continuous at all -poihts
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- 90.

The 1ntegra1 I

dx converges to
Jx i
s (2>,‘,,,j1_\:

@b i @ 8

91.

=

Interpolation provides good estimates of missing values if and only
if : ' '

(1) The ché.nge of v_alués is consistent'

(2) The senes does not refer to abnormal periods

(3) The arguments are equldlstant

(4) All of the above :

- 92.

The third difference of a cubic A%y function are

(1) Constant adi (2) Non constant

®) Variables , (4) - Noiie of the above

93.

Who is the father of Computer ?
(1) Allan Turmg _ e (2) Charles Babbage

(3) SimurCary . (4) AugustaAdaming.

PG-EE-2022 (Statistics) Code-C
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94 - | CD-ROM stvands for

(1) Compactable Read Only Memory

b (2) Compact Data Read O'nlvaellnory}

(3) Compactable ]jisk Read Only Memory

(4) Compact Disk Read Only Memory

| 95. | Which of the following is the binary equivalent of the decimal

number 35 ?
(1) 10001 (2) 100101
(3) 100011 |  (4-) 101001
- 96. | What is unit of info'rmation.? A
(1) Bit ia 2) Bite
(3) Gram @ Hertz
9. Whiéh shortcut key is used, to find ba particular word in a word

document ?
(1) CTRL+S (2 CTRL+F

(3) CTRL+R (4 CTRL+Y

|
PG-EE-2022 (Statistics) Code-C

(26)



|
1

|

| TTER——

Set-X

(3) Volatile Graphics Array

@

Code-C
, idja;evsi;ion Questions
| INo.
| 98. | VGAis.
(1) Video Graphics Array (2) Visual Graphics Array

Video Graphics Adapter

What does USB stand for ?
(1)  Universal Signal Board

(3) Universal Serial Bus

7€)
(2)

€9

Universal Signal Bus

Universal Serial Board

Research

Research

Research

Research

100. Which of the following is the correct abbreviation of COMPUTER ?

(1) Commonly Occupied Machines used in Technical and Education
| (2) Commonly Operated Machines used in Technical and Environmental |
(3) Commonly Oriented Machines used in Technical and Education

(4) Commonly Operated Machines used in Technical and Educational

PG-EE-2022 (Statistics) Code-C
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o The mathematical expression for continuity of a function is
(1) ¢4mfx)=f(c),Vcela,b] @) {mf(x)=f(c),Vce(a,b)
@) ‘tmf(x)=f(c),Vcel[a,b) (4) fimf(x)=f(c),Vce(ab]
: . : | dy .
2. For 2x + 3y = sin x, then value of FEL
cosx—2 N COSX —2
) R ey =
tanx —3 : Y sinx —2
@ == | @ ==
3. Ifx=6sin"!2tandy= 2,thenﬂis
: 4 —t dx :
t g 3
W) It @ g
3 SN ‘ o i v
P 15001 ok s
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1
-4, Eim[a sl jx is equals to
x>0 2
1) a+b = @) ab
. : . -
® Vab @ 5
: 5. If‘f’ be a continuous and differentiable function on (a, b), then the condition
for the function ‘f’ to be increasing is
1) f'®<0 vx,x,¢€(a,b)
2 f'®>0 vx,x,e(ab)
@ '®=0 vx,x,e(a,b)
4 f'®=20 vx,x,e(ab)
6.

2
The integral J.sin4 xcos’ xdx is
0

' 1
(1) D) | 2) 16

18 l 1
(3} 16 | : 4
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: : b a
o The name of the property If ) dx.= J' f(x)dx is
: a b

(1) Reverse integral property . (2) Adding intervals property

(3) Zero interval pioperty (4) Adding integrand j)roperty

=8, Af the poinfx= 0, the function f (x) = |x|,-1<x<1is
(1)' Continuous and differentiable

(2) Non-continuous and differentiable

(3) Continuous and non-differentiablé

(4) Neither continuous nor differentiable -

Fux® :
18
X3

= The function f (x) =

4x —
(1) Discontinuous at one point
(2) Discontinuous at exactly two pdints

(3) Discontinuous at exactly three points

.(4) Continuous at all points
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1o,

- dx converges to
vx?-1

(11 2 : (el

' 2
The integral j
1

@3 O .(4) 3

11.

When was the first census held in India ?
(1) 1870 (21871

(3). 1872 (4) 1874

12

Which of the following is nof a division of NSSO ?
(1) Coordination and publication Division

(2) Field Data Division

(38) Data Processing Division

(4) Survey Design and Research Design

13.

The purchasing power of money is

(1) Reciprocal of price index number
(2) Equal to price index number

(8) Twice the price index number

(4) Unequal to price index number
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14. Fisher’s ideal formula does not satisfy :
(1) Time reyersal test | (2) Circular test
(3) Factor reversal test ' 4) Unit test
15. Which index number satisfies factor reversal test ?
(1) Paasche’s Index (2) Laspesrre’s Index - |
(3) Fisher’sIdeal Indsx (4) Walsh Price Index
16. In a chain base method, the base period is _
(1) Fixed . | (2) Not fixed
(3) Constant 4) Zero i_
17. In India, the collection of vital statistics started for first time in
(1) 720 : (2) 1886 |
(3 1969 - | (4) 2014
18. The death rate obtained for a segment of a population is known as
1) Si)eciﬁc death i'ate | (2) Crude death rate
(8) Standardized rate 4) Vital index
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- 19. The elasticity for demand of the durable goodsis
(1) Zero (2) Equal to unity

(3) Greater than unity ' (4) Lessthan unity

20. When the price of a product falls by 10% and its demand rises by 30%,

then the elasticity of demand is

(1) 13 (2):-8
(3) 10 : (4) 30
521 Sfandard error of the sample correlation coefficient ¢ is based on ‘n’

paired values is :

1412 1+r?
1 2
(1) AT | (2)
fr? 1+1°
e S 5
22, If the value of multlple correlatlon coefficient is near to 1, it leads to the

conclusion that :
(1) There is a lack of linear relationship
(2) Linear relation is a good fit

3) There 1s a curvilinear relation -

(4) All of the above
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23. Regression coefficient is independent of :
(1) Origin : (2) Scale
(3) Both origin and scale ' 4) . Neither origin nor scale
24. The function Y = a + bX + ¢X2 + dX3 represents :
(1) A hyperbola (2) Anexponential curve
(83) Aparabola (4) Gompertz curve
- 25. The mean deviation of the set of numbers 12, 8,'7,°3,.16;110,' 18, b
is :
(1) 3.25 } @) 225
(3) 4.25 (4) 5.25
26. IfX’ is a random variable with its mean X , then the expression E (X - X)?

represents
(1) The variance of ‘X’ (2) Second Central moment

(3)' Both (1) and (2) : (4) The standard deviation of X’
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217. If X’ is a random variable héving its probability density function
1
(pdf) f (x), then E (i)is called
(1) Arithmetic Mean (2) First Quartile
(3) Harmonic Mean ‘ (4) . All of these
28. The Probability function f (%), —0 < x < w0 is said to be probability density
function if :
1) [fE)dx-120 @ [fEdx=1
@ [fxdx=1 @) [fxdx=0
0 — ;
Let X be a continuous r.v. with pdf

8, O0<sxx)
Hb e ; 1<x<2
—ax+3a; 2<x<3

| 0 iy

then the value of ‘a’ is
(1):.70.4 ks (2 0.5

(3) 0.3 4 0.1
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" 30.

Let X be a random varidble with the following probability distribution :

X 83 6 9

P(X=x)

N —.
W

L
6

The value of E (X?) is
1) 435 | @ 4537

(3) 46.5 4) 43.4

31.

Interpolation provides good estimates of missing values if and onl

i '
(1) The ch'ange of values is consistent
(2) The series does not refer to abnormal periods

(3) The arguments are equidistant

(4) All of the above

32.

The third difference of a cubic A y function are
(1) Constant | (2) Non constant

(3) Variables (4) None of the above
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33.

Who is the father of Computer ?
(1) Allan Turing (2) Charles Babbage

(3) Simur Cary - (4) Augusta Adaming

- 34.

CD-ROM stands for

(1) Compactable Read Only Memory

2) C'ompact Data Read Oniy Memory

(3) Compactable Disk Read Only Melmory

(4) Compact Disk Read Only Memory

35.

Which of the following is the binary equivalent of the decimal

number 35 ?
(1) 10001 (2) 100101

(3) 100011 : (4 101001

36.

What is unit of information ?
(1) Bit (2) Bite

(3) Gram .(4) Hertz
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37. Which shortcut key is used, to find a particular word in a word
' document ? '

(1) CTRL+S . (2 CTRL+F

(3) CTRL+R ‘(4 CTRL+Y
38. VGA s

(1) Video Graphics Array (2) Visual Graphics Array

(3). Volatile Graphics Array  (4) Video Graphics Adapter

- -39, What does USB stand for ? .
(1) Universal Signél Board (2) Universal Signal Bus

(3) Universal Serial Bus (4) Universal Serial Board

40. Which of the following is the correct abbreviation of COMPUTER ?

(1) Commonly Occupied Machines used in Technical and Education

Research

(2) Commonly Operated Machines used in Technical and Environmental

"~ Research

(3) Commonly Oriented Machines used in Technical and Education

Research

(4) Commonly Operated Machines used in Technical and Educational

Research
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1
141 /im n™ 1is equal to
kir 1 : 2 o0
3) e (4) Log2
42, The set {(~1)"n} is
(1) Bounded below but not above
(2) Bounded above but not below
(3) Bounded
(4) Neither bounded below nor bounded above
43.

1 :
If f(x) = 2 on [1, 4], then the values of L [f, P] and U [f, P] for the

partition P = {1, 2, 8, 4} of [1, 4] are

61 49

9 7

D 14236 @ 11436
139 _

3) 122°36 (4) None of these
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44. Iff: [a, b] > R is a bounded function and P,P’' € P [a, b] such that P = P,
then which of the following is true ?
1) LEP)>LEP) @ UEP)<U(E P
® LEP)<LEP) (4) Both (1) and (2) are true
45. Every infinite bounded set of real numbers has a limit point. This result
' is known as
(1) Heine-Borel Theorem (2). Cauchy I*t theorem on limits
(3): Cauchy 2~ theorem onlimits (4) Bolzano-Weierstrass theorem
46. The series Z cos (;) is
n=1
(1) Convergent (2) Divergent
(3) Oscillating finitely (4) Oscillating infinitely
Y v A set of values of decision variables which satisfies the linear constraints
and non-negativity conditions of a LPP is called its
(1) Unbounded solution s Optimum solution
(3) Feasible solution (4) None of these
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48. The feasible regionfor a LPP is shown shaded in the figure given below. If

Z = 3x — 4y be the objective function, then minimum of Z occurs at

N

(4, 10)

0, 8
©.8 Feasible (6, 8)

Region (6, 5)
0,0) € 0) -
(1) (0,0) ' 2) (©,8)
3 6,0 (4) (4,10)
49. A basic solution is called non-degenerate if

(1) All the basic variables are zero
(2) None of the basic variable is zero
(3) At least one of the basic variable is zero

(4) Atmost one of the basic variable is zero

50. Linear Programming Problem (LPP) involving more than two variables

can be solved by
(1). Graphical method (2) Matrix minima method

3) Hungarian method (4) - Simplex method
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51. The order and degree of the differential equation E}Zz—+ 1+ o =0
are
(1) First order, second degree
(2) First order, first degree
(38) Second degree, second order
(4) Second order, first degree
. B2, The n** order ordinary linear homogeneous differential equation
has
(1) n-singular solutions (2) | no singular solution
(3) one singular solution (4) (n-1)singular solution
; : Sy Oy - 7
53. The differential equation = + = 2y =0 has the solution
(1) y=c,e "¢, e Q) y=ce X
3) y=¢ Ut BN . Y (4) y=c e=F¥e ¥
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54. The equation g—i +' Py = Q is linear differential equation of first ordgr
if

(15 P,Q afe functions o'f x only

Q) P, Q are the functions of y only

(3) P, Q are the functions of x and y

4 P,Q are the functions of none of x and y

55. The integrating factor for the differential equation

} =t — AdX + L .
(X 1) | T B . (X ].) 1S

1
(1). 255 i 2y x+1
3 .1 4 . 2-1
® == @ x-

~ 56. The necessary condition for the equation M (x, y) dx + N (x, y) dy = 0 to be

exact is
N oM N__oM
(1) ay 7 ox ‘ (2) ay i ox
™M _aN M_ N
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57. The differential equation derived from y = A e>* + B e % ; A and B are
' constants has the order
1 3 , @ 1
3 2 4) 4
58. The ordinary differential equation x romi g 2x? with initial condition
y (O) =0 has
| (1) No solution (2) Aunique soiutibn
(3) Twodistinct solutions (4) Aninfinite number vof solutions
- B9. Which of the following statement is true ?

(1). The set Q of rational numbers is neighbourhood of each of its

points
(2) The set R of real numbers is neighbourhood of each of its points

(83) The set N of natural numbers is neighbourhood of each of its

points

(4) All the above statements are true
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- 60. If fgr; an% = fgrolo a“;l provided that the limit on RHS exists. This result
is known as
(1) Heine-Borel theorem (2) Cauchy 2™ theorem on limits
(35 Squeeze principle (4) Lefibnitz’s rule
61, Thé coefﬁcient of slack variable in the objective function is
1 -M ‘ 2 M
@ 0 @ 1
62. For maximization LPP, the Simplex method is terminated when all
" values | .
(1) C-Z20 ' @ C;+Z20
@ Ci-% <0 T 0tii0
The assignment problem is

(1) Non-linear programming problem
(2) Dynamic programming problem ‘
(3) Integer linear programming problem

(4) Integer non-linear programming problem
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64. The solution to a Transportation Problem (TP) with ‘m’ rows and ‘n’ columns
is basic feasible if number of positive allocations are
(1) m+n @ m=n
3 m+n-1 : 4 m+n+1
. 65. The bisection method is applied to compute a zero of the function

f (x) = x* — x3 — x2 — 4 in the interval [1, 9]. The method converges to a

solution after :
(1) First iteration (2) Three iterations

(3) Twoiterations (4) Fiveiterations

66. If f (x) = x%, then the second _order divided difference for the points

Xy X,, X, Will be

' 1
(1 =1 "= (2) _X1—xo
® 1 W
67. The order of convergence of Newton-Raphson method is
1) 2 @ 3
3 0 W 1
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~ 68. The second approximation to a root of the equation x2 — x — 1 = 0 in the
interval (1, 2) by bisection method will be
(1) 19 ' 2y 235
@) 1.75 | 4) 15
69. The Newton-Raphson method is also called as
(1) Tangent method (2) Secant method
(3) Chord method (4) Diameter method
70. Newton’s formula for backward differences with usual notations is
; : . : n-lfu+4r
i : 1) yX:yO"'Z(r]ArYO 2 ’yx=y0+2(' : JV'yr
r=1 / r=]
: SR L ol BT ; '
B) Y<=Yot ). [ ! JV Yo (4)  None of these
r=1
g The word ‘Statistics’ is used as
(1) Singular 2) Plural
(3) Singular and Plural (4) None of these
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72,

73.

In an exclusive type distribution, the limits excluded are :

(1) Lower iimits
| (2) Upper limits
(3) Either of the lower or upper limits

(4) Lower and upper limits both

With the help of the Ogive curve, one can determine :

(1) Median ~ (2) . Deciles

(3) Percentiles (4) All the above

74.

The most appropriate diagram to represent the data relating to the
monthly expenditure on different items by a family is :

(1) Histogram ; (2) Pie Chart

(3) Frequency Polygon (4) Line graph

 76.

(3 HM.>GM.>AM. 4 AM.>GM. >HM.

The correct relationship between AM., GM. and HM. is :

(1) AM.=GM.=HM. (2) GM.>AM.>HM.
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| 76. For a group of 100 candidates, the mean was found to be 40. Later on,
it was discovered that a value 45 was misread as 54. The correct mean
is : ‘ |
(1) .40.50 ' (2) 89.85
3) 39.80 4 3991

1. The correct formula for variance of ‘n’ sample observations XX ; X
1s ' '
1) - oGl ®) 40 5% g qis)

a=] 5. =1
wd 2 1 - SR
3) HZ(xi—x) @) HZ(xi x")

78. Average wages of workers of a factory are Rs. 550 per month and
the standard deviation of wages is 110. The coefficient of variation
1s
1) 30% ©@ 15%

3) 500% : 4 20%
- 79. In case of positive skewed distribution, the relation between mean, median
and mode is :
(1) Median > Mean > Mode (2) Mean > Median > Mode
(3) Mean =Median=Mode (4) 2Mean = 1.5 Median = Mode
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80. The idea of product moment correlation was given by :

L (1) R.A.Fisher . () Sir Francis Galton

(3) Karl Pearson (4) . Spearman

| 81. fFor a subspace W of a finite dimensional vector space V (F), Dim (%) is
| .equal to
(1) Dim V-Dim W 2) DimVl
() DimW e
~ 82 The set of ordered triplets (a,, a,, 0)-of R? has dimension
(H 1 2 2
«B). 8 @ 4
83. A set of vectors containing the null vector ié

P

(1) Linearly Independent (2) Linearly Dependent

(3) Both (1) and (2) @ None of these
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84. A bijective linear transformation is called
(1) \Homomorphislm _ (2) Monomorphism
(3): Epimorphism (4) Isomorphism
. : coso - sino |
85. The matrix | _ o o cosa |28
(1) Unitary (2) Skew-symmetric
(3) Orthogonal (4) Hermitian
| 3 3
86. The characteristic roots of the matrix NG) { | are
() 2.1 © 0,3
@ 1,42 @) 2,2
87.

The set of vectors X, = (2, 1, 4), X, = =8,2 =1 X;=(, -85 - 2)

is
(1) Linearly dependeﬁt (2) Linearly Independent

(3). Both (1) and (2) (4) None of these
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88. The product of the eigenvalues of the matrix A is equal to
@ 1Al . (9 TraceofA
@ 1 @ 0
L 89. If A is a square matrix, then A + A’, AA’ and A’A are
(1) Symmetric | (2) Skew symmetric
(3) Hermitian (4) Skew Hermitian
90. If A is an orthogonal matrix, then
Gra=v @ [Al==£1
@ IAl=1 @ 1A]=-1
: 91 If X ~ N (u, 6%, then the standard normal variate is distributed
as :
M N© o) @ N o9
3 N(O1 4 N0
92. The moment generating function of Poisson distribution is
(1) e et-1). ] 2) et -1
3 et-1 (4) era-¢h
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- 93. The distribution function of the exponential distribution with parameter
‘A’ is given by
(1) e : 2) e*x-1
B) 1—e?x (4) —e*x
94, Which of the following is the mode of the rectangular distribution with
parameter A and B ?
A+B | A-B
5 ) o
(3) Mode does not exist . 4 A+B
95. The Quartile Deviation of the normal distribution is
: 1 - D
(1) Qb==a 2 QD.=—-oc
2 3
g | s
(3) Q.D.=—C (4) ; Q,D,:—g
5 : ' 4
If A and B are two independent events, then P (A N B) is equal to

1) P@A) P(B) ' @ 1-PAUB)

@ [M-PA][M1-P@®B)] (4) All of these
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97. The moment generating function of the geometric distribution is
q A qp
@ 1-qe' - @ 1-qe'
P ' q
(3) l—qet' (4) 1_.pet
98. Which of the following is true ?
(1) E@X+b)y=aEX) 2) E@X+bY)=aEX)+b
3) E@X+bY)=aEX)+bE(®) @) All of the above
99. Two dice are rolled by two players A and B A throws 10, the probability
that B throws more than A is
( 12 ( 6
] . 1
@ 13 4 I3
100.. The mean of Binomial distribution B (n, p) is
(1) np (2) np-1
(3) np+1 _ (49 1-np
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